. - A T4 Y A >

[L2X] FEEE=1/1998 FEZ =#]1500% - §#¥72% THHR =)L /0E HEER =32383&10&13
Wi R R k- -- 220 [A2X] RESR =1,/99.9 FEZ=#1330%-#75% THHR =)L /0@ EH=32323&10&10
BRE AT —---4{H /’\
WARR A - NEIRE
W77 FEE---HY &
W/EY---5b o ©
- [L2X] 1/99.9(~) o°
« [A2X] 1/46.6( ~)
WEE--- 5T

%% T |
_ 55 _ i
®°o°°°o°°o§ ts
WEHREOLRER o o © 9 © 0 0O O 00
R O 5 [MAX HE]

[L2x] (13 {@ /8C)

(SBEBEF—)E0, (Je)oR-- 430 (@
COO0000D D00 00D ' 15R---1r
<SEBREEMN= 5 [E> [A2X] (10 {8 /7C)
“(3=)5R---315 {@
‘3R 15R---945 {@

TR, [EAMHER] BvEY, [FHBEM] ToMHIZ¥ECET, Presented by TKC  (HREH b—& - /7« 3FFiarX)




